Math 1116, Quiz #2, Fall 2013 Name KgY
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Instructions: Use correct notation and show all work. Be sure to clearly label all winners of elections.

1. How many ways can you roll six dice?

6° = 46,656
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2. Suppose that a straw poll is conducted about an upcoming election with three candidates with
the results shown in the table below. Compute the winner of the election by Plurality with

Elimination. .

# of Votes 6 2 3 4 2
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But suppose that when the actual election is conducted the twa voters in the last column decide
to change their votes and give C their 1% place choice instead, according to the table below.
Calculate who won the election now. Is this af_airness criterion violation, and if $0, which one?

# of Votes 6 2 3 4 2
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